Calcul mental : multiplier par 10, 100, 1000, 20, 200, 4000 : trouver le facteur manquant..

1. Rappel (ensemble) :

6x100= ..., 4 X e, =4 000
45 x 10 = DX e, = 350
7X20= s T X oo, =4 200
9x3000= ..., K5 =900
5x600= ... B X e, =400

6 x1000= ..., 3 x =270
45 x 100 = .. /40 S =490
9x30= . B X oo = 3 000
8x4000= ... 4 X e, = 160
8x600= ... 8 X oo =560

6 x100 = ..o, 2 X s = 2000 (2 multiplier par combien est égal @ 2000 ?)
15x10= s 5 X oo =500

4x20= e, 40 S =7 000

3x3000 = .. 3 X s =210

6x600= ... 9 X s = 360

9x100= ... T X oo, =700
25 x10 = v 8 X oo, =560
3x90= . 4 X e, =3 200
7X700= .. 2 X e =18 000



